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amOZr{V {dkmZ 
POLITICAL SCIENCE 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 100 

Time allowed : 3 hours Maximum Marks : 100  

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 19 h¢ &  
 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 

{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >27 àíZ h¢ & 
 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 

 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• 
_| 10.15 ~Oo {H$`m OmEJm & 10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo 
Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 19 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 27 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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gm_mÝ` {ZX}e : 

(i) g^r àíZ A{Zdm`© h¢ & Bg àíZ-nÌ _| Hw$b 27 àíZ h¢ & àíZ-nÌ nm±M IÊS>m| _| 
{d^m{OV h¡ &  

(ii) IÊS> A _| àíZ g§»`m 1 – 5 VH$ àË`oH$ àíZ EH$ A§H$ H$m$ h¡ & àË`oH$ àíZ H$m CÎma 
20 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(iii) IÊS> ~ _| àíZ g§»`m 6 – 10 VH$ àË`oH$ àíZ Xmo A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma  
40 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(iv) IÊS> g _| àíZ g§»`m 11 – 16 VH$ àË`oH$ àíZ Mma A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma 
100 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(v) IÊS> X _| àíZ g§»`m 17 – 21 VH$ àË`oH$ àíZ nm±M A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma 
150 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(vi) IÊS> X _| àíZ g§»`m 21 _mZ{MÌ na AmYm[aV àíZ h¡ &  BgHo$ CÎma AnZr  
CÎma-nwpñVH$m _| {b{IE & 

(vii) IÊS> ` _| àíZ g§»`m 22 – 27 VH$ àË`oH$ àíZ N>… A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma 
150 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

General Instructions : 

(i) All questions are compulsory. This questions paper has 27 questions in 

all. There are five sections in this question paper.   

(ii) Section A contains Questions number 1 – 5 of one mark each. The 

answers to these questions should not exceed 20 words each. 

(iii) Section B contains Questions number 6 – 10 of two marks each. The 

answers to these questions should not exceed 40 words each. 

(iv) Section C contains Questions number 11 – 16 of four marks each. The 

answers to these questions should not exceed 100 words each. 

(v) Section D contains Questions number 17 – 21 of five marks each. The 

answers to these questions should not exceed 150 words each. 

(vi) In Section D, Question number 21 is a map-based question. Write its 

answer in your answer-book. 

(vii) Section E contains Questions number 22 – 27 of six marks each. The 

answers to these questions should not exceed 150 words each. 
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IÊS> A 

SECTION A 

1. JwQ>-{ZanojVm H$mo n¥WŠVmdmX Š`m§o Zht _mZm OmVm h¡ ? 1 

 Why is non-alignment not considered as isolationism ? 

2. erV `wÕ H$s g_m{á Ho$ ~mX ^maV – MrZ g§~§Ym| _| _hÎdnyU© ~Xbmd Am`m & Eogo {H$gr 
EH$ ~Xbmd H$s nhMmZ H$s{OE & 1 

AWdm 

 {~«Q>oZ H$s nyd© àYmZ _§Ìr, _mJ©aoQ> W¡Ma Zo {~«Q>oZ H$mo `yamonr` ~mµOma go AbJ aIm & Bg 

{ZU©` Ho$ nrN>o Š`m H$maU Wm ? 1 

Since the end of the Cold War, there have been significant changes in 

India – China relations. Identify any one such change. 

OR 

 Britain’s former Prime Minister, Margaret Thatcher kept UK out of the 

European market. Highlight the reason behind this decision. 

3. ‘‘^maVr` amOZr{V _| Xb-~Xb H$s àWm H$mo H$B© ~ma "Am`m am_ J`m am_' H$s Zr{V Ho$ ê$n 

_| ì`º$ {H$`m OmVm h¡ &’’ Bg H$WZ H$mo Ý`m`g§JV R>hamBE & 1 
 ‘‘The practice of defection in Indian politics is many a times expressed as 

the policy of – ‘Aya Ram Gaya Ram’.’’ Justify the statement. 

4. g§`wº$ amîQ´> g§K Ûmam Xr JB© "_ybdm{g`m|' H$s n[a^mfm {b{IE & 1 

 Write the U.N.’s definition of indigenous populations.   

5. 1989 _| K{Q>V Cg KQ>Zm H$s nhMmZ H$s{OE {OgHo$ H$maU ‘Xÿgar Xþ{Z`m’ H$m nVZ VWm 
erV ẁÕ H$s g_m{á hþB© & 1 

AWdm 

 {ÛVr` {díd `wÕ Ho$ A§V _|, A_arH$m H$mo N>mo‹S>H$a gmo{d`V g§K H$s AW©ì`dñWm eof {díd 
H$s VwbZm _| H$ht A{YH$ {dH${gV Wr & {H$gr EH$ CXmhaU Ûmam Bg H$WZ H$mo à_m{UV 
H$s{OE & 1 
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Identify the event that took place in 1989 which led to the collapse of the 

‘Second World’ and the end of the Cold War. 

OR 

 The Soviet economy was more developed than the rest of the world except 

for the US after the end of the Second World War. Substantiate the 

statement with any one example. 

IÊS> ~ 

SECTION B 

6. Jmo~m©Mod Ûmam bmE JE {H$Ýht Xmo gwYmam| H$m C„oI H$s{OE & 12=2 

 Mention any two reforms initiated by Gorbachev. 

7. ‘‘ñdV§Ì ^maV H$m OÝ_ ~‹S>r {dH$Q> n[apñW{V`m| _| hþAm &’’ {H$Ýht Xmo Cn ẁº$ VH$mªo Ûmam Bg 

H$WZ H$s nwpîQ> H$s{OE & 12=2 

AWdm 

 ‘‘^maV Ho$ g§{dYmZ {Z_m©VmAm| Zo gw{ZpíMV {H$`m {H$ {dH$mg VWm H$ë`mU g_yMo g_mO H$m 

hmoZm Mm{hE Z {H$ Ho$db Hw$N> EH$ dJmªo H$m &’’ Bg H$WZ H$s d¡YVm ñWm{nV H$aZo Ho$ {bE 

H$moB© Xmo Cn ẁº$ VH©$ Xr{OE & 12=2 

‘‘Free India was born in very difficult circumstances.’’ Justify the 

statement with any two suitable arguments. 

OR 

 ‘‘The Constitution framers of India ensured development and well being 

of the entire society and not only of some sections.’’ Validate the 

statement with any two suitable arguments. 

8. Eogo {H$Ýht Xmo H$maH$m| H$m {díbofU H$s{OE Omo nm{H$ñVmZ Ho$ ~ZZo Ho$ {bE CÎmaXm`r Wo & 12=2 

AWdm 

 ‘‘nm{H$ñVmZ ~ZZo H$s ~mV Wmo‹S>r AmgmZ bJVr Wr, na§Vw BgHo$ ~ZZo go H$B© {dH$Q> 

H${R>ZmB`m± n¡Xm hþBª &’’ CZ_| go {H$Ýht Xmo H${R>ZmB`m| H$mo ñnîQ> H$s{OE & 12=2 
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Analyse any two factors that led to the creation of Pakistan. 

OR 

 ‘‘The idea of Pakistan might have appeared simple, but its creation 

presented many severe difficulties.’’ Elucidate any two of them. 

9. ñVå^ ‘A’ _| Xr JB© KQ>ZmAm| H$m ñVå^ ‘B’ _| CZgo g§~§{YV {V{W`m| go {_bmZ H$s{OE : 
2

1
4=2 

 ñV§^  ‘A’   ñV§^  ‘B’ 

(a) {ÛVr` {díd `wÕ (i) 1990 

(b) Hw$d¡V na AmH«$_U (ii) 1992 

(c) {~b pŠb¨Q>Z H$m amîQ´>n{VËd (iii) 1941 

(d) nb© hma~a (iv) 1945 

AWdm 

 {ZåZ{b{IV KQ>ZmAm| H$m C{MV H«$_ {ZYm©[aV H$s{OE : 
2

1
4==2 

(a) "Am°naoeZ B©amH$s \«$sS>_' Ho$ A§VJ©V g§`wº$ amÁ` A_arH$m Ûmam B©amH$ na AmH«$_U 

(b) Zoamo~r, Ho$Ý`m Am¡a V§µOm{Z`m _| A_arH$s XÿVmdmgm| na ~_m| H$m \|$H$m OmZm  

(c) dëS>© Q´>oS> g|Q>a Ho$ CÎmar VWm X{jUr Q>mdam| na h_bm 

(d) B©amH$ Ûmam Hw$d¡V na AmH«$_U 

 

Match the following events in Column ‘A’ with their corresponding dates 

in Column ‘B’ : 

 Column ‘A’     Column ‘B’ 

(a) World War II (i) 1990 

(b) Kuwait Invasion (ii) 1992 

(c) Presidency of Bill Clinton (iii) 1941 

(d) Pearl Harbour (iv) 1945 

OR 
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 Find the correct sequence of the following events : 

(a) US invasion of Iraq under Operation Iraqi Freedom 

(b) Bombing of the US Embassies in Nairobi, Kenya and Tanzania 

(c) Attack on North and South towers of the World Trade Organisation 

(d) Iraq’s invasion on Kuwait 

10. 1977 Ho$ bmoH$ g^m MwZmdm| H$mo {dnj Zo "bmoH$V§Ì ~MmAmo' Ho$ Zmao na Š`m| b‹S>m ? 2 

 Why were the Lok Sabha elections, 1977 fought by the opposition on the 

slogan ‘Save Democracy’ ? 

IÊS> g 
SECTION C 

11. 1967 Ho$ Am_ MwZmdm| go nyd©, ^maV H$s Am{W©H$ pñW{V H$m AmH$bZ H$s{OE & 4 

AWdm 

 1967 Ho$ Am_ MwZmdm| H$mo H$m±J«og nmQ>u Ho$ {bE EH$ amOZr{VH$ ^yH§$n Š`m| H$hm J`m ? 

{H$Ýht Mma H$maUm| H$m narjU H$s{OE & 14=4 
Assess the economic situation of India before the general elections of 

1967. 

OR 

 Why were the general elections of 1967 called as the political earthquake 

for Congress ? Examine any four reasons. 

12. T>m±MmJV VmH$V Ho$ ê$n _|, A_arH$s dM©ñd H$s {H$Ýht Mma {deofVmAm| H$m dU©Z  
H$s{OE & 14=4 

 Describe any four features of the U.S. hegemony as structural power.   

13. JwµOao dº$ _|, A_arH$m VWm AÝ` npíM_r Xoem| Zo nm{H$ñVmZ _| g¡{ZH$ emgZ H$mo Š`m| 
~‹T>mdm {X`m ? H$moB© Xmo H$maU ñnîQ> H$s{OE & 22=4 

 Why have the United States and other Western Countries encouraged 

the military authoritarian rule in the past in Pakistan ? Explain any two 

reasons. 
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14. Eogo {H$Ýht Mma H$maUm| H$m CëboI H$s{OE {OÝhm|Zo _hme{º$`m| Ho$ {bE N>moQ>o Xoem| Ho$ gmW 
JwQ> ~ZmZm Amdí`H$ ~Zm {X`m & 14=4 

AWdm 

 ^maV H$s JwQ>-{ZanojVm H$s Zr{V Zo {H$Z Xmo VarH$m| go h_mao amîQ´>r` {hVm| H$s ajm H$s ?  

Bg Zr{V H$s AmbmoMZm Ho$ H$moB© Xmo AmYma ^r {b{IE & 2+2=4 

State any four reasons for which the superpowers needed smaller states 

as allies. 

OR 

 Mention two ways in which Non-alignment policy of India served its 

national interests. Also write any two basis on which this policy was 

criticized. 

 

 

15. "{díd H$s gmPr g§nXm' go Š`m A{^àm` h¡ ? BgHo$ H$moB© Xmo CXmhaU Xr{OE & {díd H$s 
gmPr g§nXm H$mo ~MmZm Š`m| A{Zdm`© h¡ ?  1+1+2=4 

 What is meant by ‘Global Commons’ ? Give any two examples of Global 

Commons. Why is it very essential to save them ?  

 

16. ‘‘g§`wº$ amîQ´> g§K _| Wmo‹S>r H${_`m± h¡, bo{H$Z BgHo$ {~Zm Xþ{Z`m Am¡a ^r ~Xhmb hmoJr &’’ Bg 
H$WZ H$mo ñnîQ> H$s{OE & 4 

AWdm 

 g§`wº$ amîQ´> g§K A_arH$s à^wËd Ho$ {déÕ g§VwbZ ~ZmE aIZo _| Ag\$b Š`m| h¡ ? ñnîQ> 

H$s{OE &  4 

‘‘The UN is an imperfect body but without it the world would be worse 

off.’’ Explain the statement. 

OR 

 Why can the UN not serve as a balance against the US dominance ? 

Explain. 
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IÊS> X 

SECTION D 

17. ZrMo {XE JE {MÌ H$m Ü`mZnyd©H$ AÜ``Z H$s{OE Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma {b{IE :  

  
(i) {X`m hþAm {MÌ, 1991 go ^maV H$s {H$g Zr{V go g§~§{YV h¡ ? 

(ii) D$na {XE JE {MÌ _| Xem©B© JB© Zr{V Ho$ _hÎd H$s ì`m»`m H$s{OE & 
(iii) Am{g`mZ (E.Eg.B©.E.EZ.) _| ^maV H$s ^y{_H$m H$m _yë`m§H$Z H$s{OE &  1+2+2=5 

 Study the picture given below carefully and answer the following questions : 

 

(i) The given image refers to which policy of India since 1991 ? 

(ii) Explain the significance of this policy as shown in the image above. 

(iii) Evaluate India’s role in ASEAN. 

nydu E{e`m 
Ho$ Xoe 

h_| BgH$s  
AmXV  

S>mbZr hmoJr 
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ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m 17 Ho$ ñWmZ na h¢ :   
Note :   The following questions are for the Visually Impaired Candidates only, 

in lieu of Question No. 17 :  

(17.1) Am{g`mZ (E.Eg.B©.E.EZ.) H$m {dñV¥V Zm_ Š`m h¡ ?  

(17.2) Am{g`mZ (E.Eg.B©.E.EZ) _| ^maV H$s ^y{_H$m H$m _yë`m§H$Z H$s{OE & 

(17.3) AnZr Am{W©H$ O‹S>Vm go C~aZo Ho$ {bE MrZ Ho$ bmoJm| Zo Š`m {H$`m ? 1+2+2=5 

(17.1) What is the full form of ASEAN ? 

(17.2) Evaluate India’s role in ASEAN. 

(17.3) What did the Chinese do to break from their  economic stagnation ? 

18. ZrMo {XE JE AdVaU H$m Ü`mZnyd©H$ AÜ``Z H$s{OE Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma 
{b{IE :  

Bg Am§XmobZ H$s ewéAmV CÎmamI§S> Ho$ Xmo-VrZ Jm±dm| go hþB© Wr & BgHo$ nrN>o EH$ H$hmZr h¡ & 
Jm±d dmbm| Zo dZ {d^mJ go H$hm {H$ IoVr-~m‹S>r Ho$ Am¡µOma ~ZmZo Ho$ {bE h_| A§Jy Ho$ no‹S> 
H$mQ>Zo H$s AZw_{V Xr OmE & dZ {d^mJ Zo AZw_{V XoZo go BZH$ma H$a {X`m & ~hahmb, dZ 
{d^mJ Zo Iob-gm_J«r Ho$ EH$ {d{Z_m©Vm H$mo µO_rZ H$m `hr Qw>H$‹S>m ì`mdgm{`H$ BñVo_mb Ho$ 
{bE Am~§{Q>V H$a {X`m & Bggo Jm±d dmbm| _| amof n¡Xm hþAm Am¡a CÝhm|Zo gaH$ma Ho$ Bg H$X_ 
H$m {damoY {H$`m & `h {damoY ~‹S>r OëXr CÎmamI§S> Ho$ AÝ` BbmH$m| _| ^r \¡$b J`m & joÌ 
H$s nm[apñW{VH$s Am¡a Am{W©H$ emofU Ho$ H$ht ~‹S>o gdmb CR>Zo bJo & 

(i) {XE JE AdVaU _| {H$g OZ Am§XmobZ H$s MMm© H$s JB© h¡ ? Bg Am§XmobZ H$m 
AZmoIm nj Š`m Wm ? 

(ii) Bg Am§XmobZ _| {H$Z nm[apñW{VH$s VWm Am{W©H$ emofU Ho$ _wÔm| H$mo CR>m`m J`m Wm ? 

(iii) Bg Am§XmobZ H$s CnbpãY`m| H$mo COmJa H$s{OE & 1+2+2=5 

 Read the passage given below carefully and answer the following 

questions : 

 The movement began in two or three villages of Uttarakhand when the 

forest department refused permission to the villagers to fell ash trees for 

making agricultural tools. However, the forest department allotted the 

same patch of land to a sports manufacturer for commercial use. This 

enraged the villagers and they protested against the move of the 

government. The struggle soon spread across many parts of the 

Uttarakhand region. Larger issues of ecological and economic 

exploitation of the region were raised. 
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(i) Identify the popular movement which is being referred to in the 

given passage. What was the novel aspect of this movement ? 

(ii) Which issues of ecological and economic exploitation were raised in 

this movement ? 

(iii) Highlight the achievements of this movement.  

19. ZrMo {XE JE AdVaU H$m Ü`mZnyd©H$ AÜ``Z H$s{OE Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma 
{b{IE :  

 hmbm±{H$ d¡ídrH$aU Ho$ {bE H$moB© EH$ H$maH$ {µOå_odma Zht h¡ {\$a ^r àm¡Úmo{JH$s 
AnZo Amn _| EH$ An[ahm`© H$maU gm{~V hþB© h¡ & Bg_| H$moB© eH$ Zht {H$ Q>obrJ«m\$, 
Q>obrµ\$moZ Am¡a _mBH«$mo{Mn Ho$ ZdrZV_ Am{dîH$mam| Zo {díd Ho$ {d{^Þ ^mJm| Ho$ ~rM g§Mma 
H$s H«$m§{V H$a {XIm`r h¡ & ewê$-ewê$ _| O~ N>nmB© (_wÐU) H$s VH$ZrH$ Am`r Wr Vmo CgZo 
amîQ´>dmX H$s AmYma{ebm aIr & Bgr Vah AmO h_ `h Anojm H$a gH$Vo h¢ {H$ àm¡Úmo{JH$s 
H$m à^md h_mao gmoMZo Ho$ VarHo$ na n‹S>oJm & h_ AnZo ~mao _| {Og T>§J go gmoMVo h¢ Am¡a h_ 
gm_y{hH$ OrdZ Ho$ ~mao _| {Og VµO© na gmoMVo h¢ — àm¡Úmo{JH$s H$m Cg na Aga n‹S>oJm & 

(i) àm¡Úmo{JH$s Zo {H$g àH$ma d¡ídrH$aU H$mo ghm`Vm àXmZ H$s ? 

(ii) ‘‘d ¡ídrH$aU EH$ ~hþ-Am`m_r AdYmaUm h¡ &’’ Bg H$WZ H$mo Ý`m`g§JV R>hamBE & 

(iii) d¡pídH$ à^md S>mbZo dmbr {H$Ýht Xmo KQ>ZmAm| Ho$ CXmhaU Xr{OE &  1+2+2=5 

AWdm 

 ZrMo {XE JE AdVaU H$m Ü`mZnyd©H$ AÜ``Z H$s{OE Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma 
{b{IE :  

d¡ídrH$aU Ho$ n[aUm_ h_ Ka _| ~¡R>o hm| V~ ^r BgH$s MnoQ> _| hmoVo h¢ & h_ Omo Hw$N>  
ImVo-nrVo-nhZVo h¢ AWdm gmoMVo h¢ – g~ na BgH$m Aga ZµOa AmVm h¡ & h_ {OZ ~mVm| 
H$mo AnZr ngÝX H$hVo h¢ do ~mV| ^r d¡ídrH$aU Ho$ Aga _| V` hmoVr h¢ & d¡ídrH$aU Ho$ 
gm§ñH¥${VH$ à^mdm| H$mo XoIVo hþE Bg ^` H$mo ~b {_bm h¡ {H$ `h à{H«$`m {díd H$s 
g§ñH¥${V`m| H$mo IVam nhþ±MmEJr & d¡ídrH$aU go `h hmoVm h¡ Š`m|{H$ d¡ídrH$aU gm§ñH¥${VH$ 
g_ê$nVm bo AmVm h¡ & gm§ñH¥${VH$ g_ê$nVm H$m `h AW© Zht {H$ {H$gr {díd-g§ñH¥${V H$m 
CX` hmo ahm h¡ & {díd-g§ñH¥${V Ho$ Zm_ na XaAgb eof {díd na npíM_r g§ñH¥${V bmXr 
Om ahr h¡ & naÝVw gm§ñH¥${VH$ d¡ídrH$aU Ho$ Hw$N> gH$mamË_H$ nj ^r h¢ & 

(i) gm§ñH¥${VH$ g_ê$nVm go gm§ñH¥${VH$ d¡{^ÞrH$aU {H$g àH$ma {^Þ h¡ ? ñnï> H$s{OE & 

(ii) ‘‘H$^r-H$^r ~mhar d¡pídH$ à^mdm| go h_mar ng§X-Zmng§X H$m Xm`am ~‹T>Vm h¡ Vmo 
H$^r BZgo, naånamJV gm§ñH¥${VH$ _yë`m| H$mo N>mo‹S>o {~Zm, g§ñH ¥${V H$m n[aîH$ma hmoVm 
h¡ &’’ Bg H$WZ Ho$ g_W©Z _| H$moB© VrZ ÑîQ>m§V Xr{OE & 2+3=5 
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Read the passage given below carefully and answer the following 

questions : 

While globalization is not caused by any single factor, technology remains 

a critical element. There is no doubt that the invention of the telegraph, 

the telephone, and the microchip in more recent times has revolutionised 

communication between different parts of the world. When printing 

initially came into being it laid the basis for the creation of nationalism. 

So also today, we should expect that technology will affect the way we 

think of our personal but also our collective lives. 

(i) How has technology aided globalization ? 

(ii) Globalization is a multi-dimensional concept. Justify the statement. 

(iii) Give examples of any two events or happenings that have a global 

impact. 

OR 

 Read the passage given below carefully and answer the following 

questions : 

 Globalization affects us in our home, in what we eat, drink, wear and 

indeed in what we think. It shapes what we think are our preferences. 

The cultural effect of globalization leads to the fear that this process 

poses a threat to cultures in the world. It does so, because globalization 

leads to the rise of a uniform culture or what is called cultural 

homogenisation. The rise of a uniform culture is not the emergence of a 

global culture. What we have in the name of a global culture is the 

imposition of Western culture on the rest of the world. But there are 

some positive aspects of cultural globalization as well. 

(i) How is cultural homogenisation different from cultural 

heterogenisation ? Explain. 

(ii) ‘‘Sometimes external global influences simply enlarge our choices 

or modify our culture  without overwhelming the traditional 

system.’’ Give three illustrations to prove the statement. 
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20. ZrMo {XE JE AdVaU H$m Ü`mZnyd©H$ AÜ``Z H$s{OE Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma 
{b{IE :  

  AmnmVH$mb ^maVr` amOZr{V H$m gdm©{YH$ {ddmXmñnX àH$aU h¡ & BgH$m EH$ 
H$maU h¡ AmnmVH$mb H$s KmofUm H$s µOê$aV H$mo boH$a {d{^Þ ÑpîQ>H$moUm| H$m hmoZm & Xÿgam 
H$maU `h h¡ {H$ gaH$ma Zo g§{dYmZ àXÎm A{YH$mam| H$m BñVo_mb H$aHo$ ì`mdhm[aH$ Vm¡a na 
bmoH$Vm§{ÌH$ H$m_H$mO H$mo R>ßn H$a {X`m Wm & AmnmVH$mb Ho$ ~mX emh Am`moJ Zo AnZr 
Om±M _| nm`m {H$ Bg Ad{Y _| ~hþV gmar "A{V' hþB© & BgHo$ A{V[aº$, ^maV _| bmoH$V§Ì  
na A_b Ho$ {bhmµO go AmnmVH$mb go Š`m-Š`m g~H$ grIo Om gH$Vo h¢, Bg na ^r  
AbJ-AbJ am` {_bVr h¡ & 

(i) Amn Bg VÏ` go H$hm± VH$ gh_V h¢ {H$ gaH$ma Zo bmoH$Vm§{ÌH$ H$m`mªo H$mo ^r dmñVd 
_| {Zb§{~V H$a {X`m Wm & H$moB© EH$ CXmhaU XoH$a AnZo CÎma H$m g_W©Z H$s{OE & 

(ii) ^maV _| bmoH$V§Ì H$mo ~ZmE aIZo Ho$ {bhmµO go ghm`H$ AmnmVH$mb Ho$ {H$Ýht Xmo 
nmR>m| H$mo COmJa H$s{OE &   3+2=5 

 

AWdm 

 

 ZrMo {XE JE AdVaU H$m Ü`mZnyd©H$ AÜ``Z H$s{OE Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma 

{b{IE :  

  gaH$ma Zo BZ KQ>ZmAm| Ho$ _ÔoZOa Odm~ _| "AmnmVH$mb' H$s KmofUm H$a Xr &  
25 OyZ, 1975 Ho$ {XZ gaH$ma Zo KmofUm H$s {H$ Xoe _| Am§V[aH$ J‹S>~‹S>r H$s Ame§H$m h¡ 
Am¡a Bg VH©$ Ho$ gmW CgZo g§{dYmZ Ho$ AZwÀN>oX 352 H$mo bmJy H$a {X`m & Bg AZwÀN>oX Ho$ 
A§VJ©V àmdYmZ {H$`m J`m h¡ {H$ ~mhar AWdm A§Xê$Zr J‹S>~‹S>r H$s Ame§H$m hmoZo na 
gaH$ma AmnmVH$mb bmJy H$a gH$Vr h¡ & gaH$ma H$m {ZU©` Wm {H$ J§^ra g§H$Q> H$s K‹S>r 
AmZ n‹S>r h¡ Am¡a Bg dOh go AmnmVH$mb H$s KmofUm µOê$ar hmo JB© h¡ & VH$ZrH$s ê$n go 
XoIo§ Vmo Eogm H$aZm gaH$ma H$s e{º$`m| Ho$ Xm`ao _| Wm, Š`m|o{H$ h_mao g§{dYmZ _| gaH$ma H$mo 
AmnmVH$mb H$s pñW{V _| {deof e{º$`m± àXmZ H$s JB© h¢ & 

(i) gaH$ma H$mo Xoe _| AmnmVH$mb H$s pñW{V bmJy H$aZo Ho$ {bE ~mÜ` H$aZo dmbo J§^ra 
g§H$Q> H$m {díbofU H$s{OE & 

(ii) AmnmVH$mb H$s KmofUm hmoZo Ho$ Vwa§V ~mX, gaH$ma H$mo àmá hmoZo dmbo {H$Ýht Xmo 
g§d¡Ym{ZH$ {deofm{YH$mam| H$s nhMmZ H$s{OE & 3+2=5 
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Read the passage given below carefully and answer the following  

questions : 

Emergency is one of the most controversial episodes in Indian 

politics. One reason is that there are differing viewpoints about  the need 

to declare emergency. Another reason is that using the powers given by 

the Constitution, the government practically suspended the democratic 

functioning. As the investigations by the Shah Commission after the 

Emergency found out, there were many ‘excesses’ committed during the 

Emergency. Finally, there are varying assessments of what the lessons of 

Emergency are for the practice of democracy in India. 

(i) How far do you agree with the fact that during Emergency, the 

government practically suspended the democratic functioning  

also ? Give any one example to support your answer.  

(ii) Highlight any two lessons of Emergency which may be helpful for 

the practice of democracy in India. 

OR 

 Read the passage given below carefully and answer the following 

questions : 

  In the light of these events, the response of the government was to 

declare a state of Emergency. On 25th June, 1975, the government 

declared that there was a threat of internal disturbances and therefore, it 

invoked Article 352 of the Constitution. Under the provision of this 

Article, the government could declare a state of Emergency on grounds of 

external threat or a threat of internal disturbances. The government 

decided that a grave crisis had arisen which made the proclamation of a 

state of Emergency necessary. Technically speaking, this was within the 

powers of the government, for our Constitution provides for some special 

powers to the government once an Emergency is declared.  

(i) Analyse the grave crisis that compelled the government to impose 

a state of Emergency in the country. 

(ii) Identify the two special constitutional powers which the 

government gets once Emergency is proclaimed. 
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21. ^maV Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ (n¥ð> 16 na), _| nm±M amÁ`m| H$mo  

                    VWm    Ûmam Xem©`m J`m h¡ & ZrMo Xr JB© OmZH$mar Ho$ AmYma na BZ 

amÁ`m| H$s nhMmZ H$s{OE Am¡a AnZr CÎma-nwpñVH$m _| BZHo$ ghr Zm_, à`moJ H$s JB© 

OmZH$mar H$s H«$_ g§»`m VWm gå~pÝYV Aja, ZrMo Xr JB© Vm{bH$m Ho$ ê$n _| {b{IE : 

 

à`moJ H$s JB© OmZH$mar  
H$s H«$_-g§»`m 

gå~pÝYV Aja amÁ` H$m Zm_ 

(i)   

(ii)   

(iii)   

(iv)   

(v)   

(i) dh amÁ` Ohm± 1957 – 59 VH$ H$m±J«og nmQ>u H$m emgZ Zht Wm & 

(ii) dh amÁ` Ohm± ^maVr` {H$gmZ `y{Z`Z, {H$gmZm| H$s EH$ à»`mV g§ñWm Wr & 

(iii) dh amÁ` Ohm± ZŠgbdmXr Am§XmobZ àmaå^ hþAm & 

(iv) ^maV H$m g~go Z`m amÁ` & 

(v) dh amÁ` Ohm± X{bV n¢Wg© g{H«$` Wo &     15=5 
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In the given political outline map of India (on page 16), five States have 

been   marked as                          and     . Identify these States on the 

basis of the information given below and write their correct names in 

your answer-book along with the respective serial number of the 

information used and the concerned alphabet as per the following  

format : 

Sr.  no.   of   the 

information used 

Concerned  

Alphabet 

Name of the  

State 

(i)   

(ii)   

(iii)   

(iv)   

(v)   

(i) The State where the Congress Party was not in power from 

1957 – 59.  

(ii) The State where Bharatiya Kisan Union was a prominent 

organization of farmers. 

(iii) The State where the Naxalite movement started. 

(iv) The youngest State of India. 

(v) The State where the Dalit Panthers were active. 
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àíZ g§. 21 Ho$ {bE For question no. 21 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 

Outline Map of India (Political) 
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ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m 21 Ho$ ñWmZ  
na h¢ :   

Note :   The following questions are for the Visually Impaired Candidates only, 

in lieu of Question No. 21 : 

(21.1) Cg amÁ` H$m Zm_ {b{IE Ohm± 1957 – 59 VH$, H$m±J«og nmQ>u H$m emgZ Zht Wm & 

(21.2) {H$g amÁ` _| ^maVr` {H$gmZ `y{Z`Z {H$gmZm| H$s EH$ à»`mV g§ñWm Wr ? 

(21.3) ZŠgbdmXr Am§XmobZ ^maV Ho$ {H$g amÁ` _| àma§^ hþAm ?  

(21.4) ^maV H$m g~go `wdm (Z`m) amÁ` H$m¡Z-gm h¡ ? 

(21.5) X{bV n¢Wg© ^maV Ho$ {H$g amÁ` _| g{H«$` Wo ? 15=5 

(21.1) Name the State where the Congress Party was not in power 

from 1957 – 59. 

(21.2) Bharatiya Kisan Union was a prominent organization of 

farmers in which State ? 

(21.3) In which State of India did the Naxalite Movement start ? 

(21.4) Which is the youngest State of India ? 

(21.5) In which State of India were the Dalit Panthers active ? 

IÊS> ` 

SECTION E 

22. gmo{d`V g§K Ho$ {dKQ>Z Ho$ {H$Ýht VrZ à_wI n[aUm_m| H$mo COmJa H$s{OE & 23=6 

AWdm 

 {díd Ho$ Xmo e{º$ JwQ>m| Zo {H$g àH$ma _hme{º$ ~ZZo Ho$ {bE, AnZo-AnZo JwQ>m| H$m {Z_m©U 
{H$`m ? CXmhaUm| H$s ghm`Vm go ì`m»`m H$s{OE & 3+3=6 

Highlight any three major consequences of the disintegration of the 

Soviet Union. 

OR 

 How did the two Power Blocs of the world form their own alliances to 

become superpowers ? Explain with the help of examples. 
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23. Oå_y VWm H$í_ra H$mo {deof XOm© XoZo dmbo AZwÀN>oX 370 Ho$ {H$Ýht VrZ àmdYmZm| H$mo 
COmJa H$s{OE & {deof XOm© {XE OmZo Ho$ H$maU OZVm H$s CÎmoOZm go Ow‹S>r {H$Ýht Xmo 
{damoYr à{V{H«$`mAm| H$m narjU ^r H$s{OE & 3+3=6 

AWdm 

 1980 Ho$ XeH$ Ho$ A§{V_ dfmªo _| hþE Eogo {H$Ýht VrZ KQ>ZmH«$_m| H$m {díbofU H$s{OE 

{OZH$m ^maV H$s amOZr{V na Jham ({MañWm`r) à^md n‹S>m & 23=6 

Highlight any three provisions of Article 370 which provide a special 

status to the State of Jammu and Kashmir. Also examine the two 

opposite reactions provoked by this special status among the people.  

OR 

 Analyse any three developments towards the end of 1980s that were to 

make a long lasting impact on the politics of India.  

24. ñdV§ÌVm Ho$ níMmV², àW_ Am_ MwZmdm| H$mo H$amZo _| ^maVr` MwZmd Am`mooJ Ho$ g_j AmB© 
H${R>ZmB`m| H$m dU©Z H$s{OE & 6 

AWdm 

 Xoer [a`mgVm| Ho$ {db` Ho$ níMmV², ^maVr` àm§Vm| H$s Am§V[aH$ gr_mE± V` H$aZo H$m Š`m 
AmYma Wm ? `h H$m`© VWm amÁ`m| H$m nwZJ©R>Z {H$g àH$ma {H$`m J`m ? 2+4=6 

Describe the difficulties that the Election Commission of India faced in 

holding the first general elections after independence. 

OR 

 After the integration of the Princely States, what was the basis of 

drawing the internal boundaries of the Indian States ? How was this task 

and reorganisation of the States done ? 

25. E\«$mo-E{e`mB© EH$Vm H$mo ~‹T>mdm XoZo Ho$ {bE Odmhabmb Zohê$ Ûmam {H$E JE à`mgm| H$m 
narjU H$s{OE & 6 

AWdm 

 Xoe Am¡a {dXoe XmoZm| hr OJh, ^maV H$s N>{d H$mo Y¸$m nhþ±MmZo _|, 1962 Ho$ MrZr 

AmH«$_U Ho$ à^md H$m _yë`m§H$Z H$s{OE & 3+3=6 
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Examine the efforts taken by Jawaharlal Nehru for the promotion of 

Afro-Asian Unity. 

OR 

 Evaluate the impact of the Chinese invasion of 1962 in denting India’s 

image at home and abroad, both. 

26. ^maV _| {Z`mo{OV {dH$mg hoVw {H$E JE àmapå^H$ à`mgm| Ho$ {H$Ýht VrZ n[aUm_m| H$m dU©Z 
H$s{OE & 23=6 

AWdm 
 ^maV Ûmam AnZmE JE {_{lV AW©ì`dñWm _m°S>b Ho$ AmbmoMH$m| Ûmam {damoY _| {XE JE 

{H$Ýht VrZ VH$mªo H$m dU©Z H$s{OE &  23=6 

Describe any three outcomes of early initiatives for planned development 

in India. 

OR 

 Elaborate any three arguments given by the critics against the mixed 

model of economy adopted by India. 

27. amîQ´>m| Ho$ g_j g§^m{dV g_H$mbrZ IVam| go {ZnQ>Zo Ho$ {bE gh`moJ_ybH$ gwajm H$s 
Amdí`H$Vm H$s ì`m»`m H$s{OE VWm Bg_| g\$bVm àmá H$aZo Ho$ {bE Cnm` gwPmBE &  2+4=6 

AWdm 

 ^maV H$mo g§`wº$ amîQ´> gwajm n[afX H$m ñWm`r gXñ` Š`m| ~ZmZm Mm{hE ? H$moB© VrZ VH©$ 
Xr{OE & 23=6 

Explain the need for cooperative security as a necessity in dealing with 

possible contemporary threats to the nations and suggest the methods to 

achieve it.  

OR 

 Why should India be made a permanent member of the U.N. Security 

Council ? Give any three arguments. 

 

 

 

 


